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(Total for Question 13 is § marks)
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21 Here is a trapezium drawn on a centimetre grid.
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On the grid, draw a triangle equal in area to this trapezium.

(Total for Question 21 is 2 marks)
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8 The length of a rectangle is twice as long as the width of the rectangle.
The area of the rectangle is 32cm.

Draw the rectangle on the centimetre grid.

(Total for Question 8 is 2 marks)
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10 The diagram shows two shapes drawn on a centimetre grid.





image11.png
(a) Find the area of shape P.

(b) Write down the mathematical name of quadrilateral Q.

m

(Total for Question 10 is 3 marks)
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20 The diagram shows a square with perimeter 16 cm.

3cm
—>

2cm

‘Work out the proportion of the area inside the square that is shaded.

(Total for Question 20 is 5 marks)
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x-3 x+3

3x x+3
In the diagram all measurements are in centimetres.
The perimeter of the quadrilateral is twice the perimeter of the triangle.

Work out the perimeter of the quadrilateral.

(Total for Question 30 is 4 marks)

cm
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27 Here is a diagram showing a rectangle, ABCD, and a circle.

A 19¢m B

16cm

D 19cm C

BC is a diameter of the circle.

Calculate the percentage of the area of the rectangle that is shaded.
Give your answer correct to 1 decimal place.

(Total for Question 27 is 4 marks)

%
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28 ABCD is a trapezium.

B 7cm
Sem
A4 9cm

A square has the same perimeter as this trapezium.

Work out the area of the square.
Give your answer correct to 3 significant figures.

(Total for Question 28 is 5 marks)

cm®
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16 Give an example to show that when a piece is cut off a rectangle the perimeter of the new shape

(i) is less than the perimeter of the rectangle,

(ii) is the same as the perimeter of the rectangle,

(iii) is greater than the perimeter of the rectangle.

(Total for Question 16 is 3 marks)
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16 The diagram shows a square.

(4x=10)em

(11-209em

Notto scale

By setting up and solving an equation, show that the perimeter of the square s numerically equal

tothe area of the square.
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17 The area of the triangle is equal to the area of the trapezium.

12em Not to scale

8cm

Som Zem

Calculate the height, hcm, of the trapezium.

om [5]
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10 The area of the paralielogram is four times the area of the triangle.

Not to scale

4om —_—

Calculate the length, L, o the paralleogram.

om 5]
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15 Arectangle is three times as long as it is wide.
Ithas a perimeter of 44cm.

Find the length of the rectangle.

om (4]
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17 The area of the triangle is equal to the area of the trapeziu,

12em Not to scale

8cm

Som Zem

Calculate the height, hcm, of the trapezium.

om [5]
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13 The midpoints of the sides of a rectangle are joined by strz

Work out the percentage of the rectangle that is shaded.

%14
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22 The diagram shows two rectangles, A and B.

Rectangle A

25em

12em

Rectangle B

Rectangle A has a width of 25cm and a height of 12cm.
The widh of rectangle B is three times the height of rectangle B.

The area of rectangle Ais equal to the area of rectangle B.

Find the perimeter of rectangle B.

Not to scale

em 5]
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Ashape is drawn on a one-centimetre grid.

(a) Find the perimeter of the shape.

(@

(b) How many lines of symmetry does the shape have?

(b)

em[1]

m
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16 The perimeter of the pentagon is equal to the perimeter of the square.

Not to scale
x4

5x+3

ox-10
2x+3

B

Find an expression for the length of one side of the square.
Give your answer in terms of x i its simplest form.

2]
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5 Ashape is drawn on a one-centimetre grid.

(a) Ring the mathematical name of the shape

Pentagon Square Octagon Rhombus. m

(b) How many lines of symmelry does the shape have?

C) m

(€) Workout the area of the shape.
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15 Here is the floor plan of a rectangular room.

45m

am Not to scale

“Tim buys carpet tiles for this room.

Each tile is a square measuring 50 cm by 50cm.
‘The ties are only sold in packs of ten.

Each pack costs £20.

Tim pays for fiting ata rate of £7.50 per square metre, with any fraction of a square melre founded up.

Work out the total cost of the tiles and fiting.
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13 In this question, assume all imensions are in centmetres.

Jess and Pete have many rectangular tes. Notto scale
Each tle has length a + b and width 25 »

(a) Joss jois three ties together to make a larger rectangle, as shown.

_H—H—H_ o

Wite an expression for the perimeter of her rectangle.
Give your answer in ts simplest form,

[

(i) An expression for the area of her rectangle is 6ab + 612,

Factorise this expression fully

0} c]

(b) Pete joins some ties together to make a different rectangl.
“The area of his rectangle is 8ab + 862,

Draw a possible amangement o tes for Pete’s rectangie.
Wl down expressions for the length and fo the width o the rectangle.
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13 ABCD and PORS are rectangles.
Ois the centre of both rectangles.

A

P 6om Q

2em

ox

o

AC s a straight ine passing through P, O and R.
BD is a straight ine passing through G, O and S.

PQ=6 cmand QR = 2cm.
“The perimeter of rectangle ABCD is 40cm.

Work out the length and width of ectangle ABCD.

lengtn =

width =

Notto scale

]
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21 The diagram shows a semi-circle inside a rectangle of length 120m.
The semi-circle touches the rectangle at A, B and C.

-

Not to scale

A

120m

Calculate the perimeter of the shaded region.
Give your answer correct to 3 significant figures.
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12 Afarmer has a field that is in the shape of a trapezium.
He measures the field so that he can work out the area.
He pus his measurements on this diagra of the field.

180m

Nottoscale
150m|

220m

() The farmer has rounded his measurements to two sigrificant figures.

Give a reason why he may have done this.

(b) The field produces 6400 kilograms of wheat per hectare.
One hectare is 100002,

Work out how many kilograms of wheat the field produces.

®)

m

kg [5]




image32.png
12 The shape below is formed from a rectangle measuring 12cm by 15¢m from which a rectangle of
length 7.4cm has been removed.

Not to scale

15cm

12cm

7.4cm

5.8cm 6.3cm

Work out the perimeter of the shape.
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(a) Asquare has an area of 100cm?.

Find its perimeter.

(@

(b) The area of the parallelogram is three times the area of the triangle.

Not to scale
8om / "
6om

Show that the perpendicular height h of the parallelogram is 4cm. 4

18em ————
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19 The perimeter of the triangle is the same length as the perimeter of the square.

da-1 a+2

3a+3

Find an expression for the length of one side of the square in terms of a.
Give your answer inits simplest form.
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16 (a)  Hereis a shape made from rectangles.

Not drawn
9cm accurately
2em
8cm
4cm
Work out the area.
[3 marks]
Answer om?
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16 (b)

Zak wants to work out the area of this triangle.

14cm

«——12em—>

Here is his working.

What is wrong with his method?

Not drawn
accurately

11 mark]
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18 Aforce of 180 newtons (N) is applied to the surface of this triangle.

Not drawn
accurately
P — e —

Work out the pressure.
force
Use pressure = X2
e

(3 marks)
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Here is a rectangle.
Not drawn

accurately
7cm

5cm

Work out the perimeter.
Circle your answer.
[1 mark]

12cm 24 cm 35cm 70 cm
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10 Each side of a square is made 3 times as long.

What happens to the perimeter?
Circle your answer.
[1 mark]

x3 x6 x9 x12
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25 ‘This triangle is equilateral.

(6x-10)cm (4x+5)em

10(x-4) cm

Is the perimeter of the triangle greater than one metre?
‘You must show your working.

Not drawn

15 marks]
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13

A small square has length x cm
Alarge square has length 15 cm

15cm

The areaof the small square s 1 f the area of th lrge suare

‘Work out the value of .

Not drawn
accurately

[3 marks]
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31

Alarge rectangle is made by joining three identical small rectangles as shown.

Not drawn
accurately
‘The perimeter of one small rectangle is 15 cm
Work out the perimeter of the large rectangle.
[4 marks]
Answer om
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14 Afriangle has base 9 cm and perpendicular height 5.6 cm

Not drawn
accurately
56cm
9cm
Work out the area of the triangle.
[2 marks]
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2 ‘Three identical isosceles triangles are joined to make this trapezium.

Each triangle has base b cm and perpendicular height  cm
< el Not drawn

bem ‘accurately

hem

26 (a)  Work out an expression, in terms of b and i, for the area of the trapezium.

Give your answer inits simplest form.
[2 marks]
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26 (b)

‘This diagram shows the same trapezium.

Not drawn
bom accurately

bis=2:3

‘Work out an expression, in terms of b, for the perimeter of the trapezium.
[2 marks]
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13

<+«—4em—>

) LI
5

«—10em——»

‘Work out the perimeter of this shape.

(Total for Question 13 is 2 marks)
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16 A wheel is made of a circular rim and 8 spokes as shown.

Not drawn
accurately
‘The length of each spoke is 37 cm
Work out the total length of the rim and spokes.
[3 marks]
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n A triangle has perimeter 32 cm

Notdrawn
acourately
A square has perimeter 40 cm
Two sides of the shapes are put together to make a pentagon.
Not drawn

acourately
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Work out the perimeter o the pentagon.

14 marks]
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10 Each shape below has an area of 24 cm*
Gomplete the missing lengths.

Rectangle

Triangle:

6em

13 marks)

om

Not drawn
accurately
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16 Here is a rectangle.

4em

Gem 6em

4em
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The 6-sided shape below is made from two of these rectangles.

Work out the perimeter of this 6-sided shape.

(Total for Question 16 is 3 marks)
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13 A square has an area of 81 cm®

(a) Find the perimeter of the square.

8lem’
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‘The diagram shows a right-angled triangle and a parallelogram.

16em
hem

9em ——30em—>

‘The area of the parallelogram is 5 times the area of the triangle.
‘The perpendicular height of the parallelogram is /iem.

(b) Find the value of /.




